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-xy+y=(x+y)2-3xy=7




2. xty+z=3 wytyzto=-1 AW+ + 2 O g2 FEhE?

@11 @ 12 ® 13 @ 14 ® 15

P+ +22=(x+y+2)?2-2(xy+yz+x2)
=94+2=11
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(x +49)(3%) = (x +)(x - )
:3x2+12xy—x2+y2
= 2x2 + 12xy + 2




HE IH Y AGHE, AIAQ EFCD= | R
ARl AD = a, AB = b A, A4

GBFH 9] §o]&? G—H
B—

® a2 - 2ab - b? @ a® + 3b* - 2ab

(@)—a2 + 3ab — 2b> @ -a? + 3ab - b>

® -a* + 2ab - b*

oGBFH = oABCD — oAGHE — oEFCD
=ab - (a-b)?-b? =ab - (a* - 2ab + b*) — b?
= —a® + 3ab — 2b>




7. &24+b2+c2=9, ab+bc+ca=9, a+b+c2 FL?

D -32 @ -2+3 @if’)‘/g
@ +3V2 ® V6

B

(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3




8. AMALFabcoldtda+b+c=2 a%>+b*+c*=6, abc = -1
Ao, a3+ b + 2 9 F2?

@1 o1 o601 @u 61

B ~

(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11
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a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1




10. a+b+c=0,a>+b*>+c? =1L W, a®b? + b%c? + 2a® 9] F2?
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~&B ~

(@a+b+c)?=a®+b%+c?+2(ab+ be + ca) o WA

1
ab—l—bc—l—caz—i

(ab + bc + ca)? = a?b? + b*c? + c%a® + 2abc(a + b + ¢)

= =

— =a?bh? + b*c?® + c2a® + 2abc(a+ b + ¢)

1
webA] a?b? + b2c? + 2a® = 1




11. A& ab,col ot a+b+c=6,a> +b>+ 2 = 125 5T o,
a® +b° + % o] & F5HH?

@ 8 @ 16 @24 @ 36 ® 42

B ~
TA a2+ b2+ = (a+b+c)?-2(ab+ be + ca)oll T
42 TRlste]

(ab + bc + ca) @ F-& Fo14A (ab + be + ca) = 12

a® + b + ¢ = 3abc = (a+ b+ c)(a® + b* + ¢*> — ab — bc — ca)
oA

a®+b*+c?—ab—-bc—ca=0°B=2

S @=b)2 + (b=0)? +(c=a)?) =0

La=b=c=20R2 g% +b> 43 =24




